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FAZKEE + T o= L &
4 R Xl B = LX(A i &

PRI (e 1) 376. m3
PR, (55 1) 693. m3
R 291. m3 3 i
T+ 0. m3 "
1B HROATE SR Weid 376. m3 TTHAREY

U L/GCORR 693. m3 n
PRLBR - FRA Weid 324. m3 n
FRA - TESR - JLEE YWiht 88.2ton 51. m3 n

" L/GCORR 693. m3 n
aryyJ—RMRVEL S f 32. m3
WALy Con 32. m3
JEgk =7 U — b t=15cm 18N-12-25 69. m3
28] D13 8. t 10kg/m2
R t=15cm RC-40 465. m2
a7 J— Ft=10cm 18N-8-40 m2
sl 105. m
[EQUE: 30 73. m2
WALy As 3. m3
#E  t=4dcm FAEBRET A2y 53. m2
A% t=10cm PHERLETEE A RM-30 53. m2
arayii 303. m3
HEA L RC-40 364. m3 [ ETHRAKEY




+ T % & B B OE 1/
woos SRR PR (7 L) IRR(HREE 1) HRE L
(m) Wr T¥IWIE | kB M T S W & Wi i R | K R Wi P25 T &
No.5 3.0 4.7 1.8
No.6 20.000 3.0 3.00 60.00 4.7 4.70 94.00 1.9 1.85 37.00
No.6 + 1512 il 5840 T 15.120 3.0 3.00 45.36 4.7 4.70 71.06 1.9 1.90 28.73
No.6 +  15.12 Ffil |5%5A L 1.3 5.1 0.9
No.6 +  19.12 Fifl 5840 T 4.000 1.3 1.30 5.20 5.1 5.10 20.40 0.9 0.90 3.60
No.6 +  19.12 Fyfil |55Ad L 3% 5.8 2.4
No.7 0.880 3.5 3.50 3.08 5.8 5.80 5.10 2.4 2.40 2.11
No.8 20.000 4.4 3.95 79.00 7.2 6.50 130.00 3.5 2.95 59.00
No.9 20.000 3.9 4.15 83.00 8.0 7.60 152.00 3.5 3.50 70.00
No.9 + 1440 B3R | #5kesss 14.400 3.9 3.90 56.16 8.0 8.00 115.20 3.5 3.50 50.40
No.9 + 1440 Tl | #Hkesss 8.1 11.8 8.0
No.9 +  16.50 E¥fl | #5kesss 2.100 8.1 8.10 17.01 11.8 11.80 24.78 8.0 8.00 16.80
No.9 +  16.50 Fiifl |#kisss 5.6 8.9 4.7 0.3
No.9 +  19.00 E3itfll | #Hkisss 2.500 5.6 5.60 14.00 8.9 8.90 22.25 4.7 4.70 11.75 0.3 0.30 0.75
No.9 +  19.00 Fiifl |#Hkesss 4.6 8.1 3.8
No.10 1.000 4.6 4.60 4.60 8.1 8.10 8.10 3.8 3.80 3.80
No.10 + 1.00 k- idal 1.000 4.6 4.60 4.60 8.1 8.10 8.10 3.8 3.80 3.80
No.10 + 1.00 Fifal 2.6 5.9 2.4
No.10 + 3.50 -3t 2.500 1.0 1.80 4.50 6.2 6.05 15.13 1.1 1.75 4.38
No.10 + 3.50 T 4.2
No.10 +  10.10 6.600 4.2 4.20 27.72
m3 m3 m3 m3
fexsis 110.100 376.51 693.84 291.37 0.75




+ I ¥ & G E E QM
o = e a ) —hEVEEL JEEgR= 7 —ht=15cm S t=15cm
(m) W T YW if & Wi i R | % R W T P-4 Wi % &
No.5 0.5 0.7 4.4
No.6 20.000 0.5 0.50 10.00 0.7 0.70 14.00 4.4 4.40 88.00
No.6 + 1512 E#fll 55AFT 15.120 0.5 0.50 7.56 0.7 0.70 10.58 4.4 4.40 66.53
No.6 +  15.12 Fiffil 55AHL 0.3 0.7 4.6
No.6 + 19.12 E#fll 55AFT 4.000 0.3 0.30 1.20 0.7 0.70 2.80 4.6 4.60 18.40
No.6 +  19.12 Fiffil 55AHL 0.3 0.7 4.3
No.7 0.880 0.3 0.30 0.26 0.7 0.70 0.62 4.3 4.30 3.78
No.8 20.000 0.2 0.25 5.00 0.6 0.65 13.00 4.3 4.30 86.00
No.9 20.000 0.2 0.20 4.00 0.6 0.60 12.00 4.3 4.30 86.00
No.9 +  14.40 Fifefl |Hkisss 14.400 0.2 0.20 2.88 0.6 0.60 8.64 4.3 4.30 61.92
No.9  +  14.40 Fifefl |Hkisss 0.3 0.6 4.3
No.9 +  16.50 Lifefl |45kisss 2.100 0.3 0.30 0.63 0.6 0.60 1.26 4.3 4.30 9.03
No.9 +  16.50 Fifefll |Hkisss 0.3
No.9 +  19.00 Eifef | $5Akikss 2.500 0.3 0.30 0.75
No.9 +  19.00 Fifefl |Hkisss 0.3 0.6 4.2
No.10 1.000 0.3 0.30 0.30 0.6 0.60 0.60 4.2 4.20 4.20
No.10 + 1.00 _E3fefa 1.000 0.3 0.30 0.30 0.6 0.60 0.60 4.2 4.20 4.20
No.10 + 1.00 Tl 0.6 4.1
No.10 + 3.50 it 2.500 0.6 0.60 1.50 4.1 4.10 10.25
No.10 + 3.50 it 0.6 4.1
No.10 +  10.10 6.600 0.6 0.60 3.96 4.1 4.10 27.06
m3 m3 m2
[exsis 110.100 32.88 69.56 465.37




+ T % & § H F (3/4)

woos AR PR 81 7Y —ht=10cm iR Al L
(m) W T YW if & Wi i R | % R
No.5 1.0 0.6
No.6 20.000 1.0 1.00 20.00 0.7 0.65 13.00
No.6 + 1512 EjFfll 55AHT 15.120 1.0 1.00 15.12 0.7 0.70 10.58
No.6 +  15.12 Fififll 55&IRL 1.0 0.7
No.6 + 19.12 EFfll 55AHT 4.000 1.0 1.00 4.00 0.7 0.70 2.80
No.6 +  19.12 Fififll 55&IRL 1.0 0.7
No.7 0.880 1.0 1.00 0.88 0.7 0.70 0.62
No.8 20.000 1.0 1.00 20.00 0.5 0.60 12.00
No.9 20.000 1.0 1.00 20.00 0.7 0.60 12.00
No.9 +  14.40 Fifefl |Hkisss 14.400 1.0 1.00 14.40 0.7 0.70 10.08
No.9  +  14.40 Fifefl |Hkisss 2.0 3.2
No.9 +  16.50 Lifefl |45kisss 2.100 2.0 2.00 4.20 3.2 3.20 6.72
No.9 +  16.50 Fifefll |Hkisss 2.0 1.9
No.9 +  19.00 Fifefl |Hkisss 2.500 2.0 2.00 5.00 1.9 1.90 4.75
No.9 +  19.00 Fifefl |Hkisss 1.0 0.6
No.10 1.000 1.0 1.00 1.00 0.6 0.60 0.60
No.10 + 1.00 _E3fefa 1.000 1.0 1.00 1.00 0.6 0.60 0.60
No.10 + 1.00 T ¥eda)
No.10 + 3.50 it 2.500
No.10 + 3.50 TRl
No.10 +  10.10 6.600
m2 m m2
[exsis 110.100 105.60 73.75




+ T % & § ®H F 4/

o = e KB t=4cm A t=10cm A [ 4R
(m) W T P-4 Wi & W T P-4 Wi % &
No.5 0.3 0.3 1.8
No.6 20.000 0.4 0.35 7.00 0.4 0.35 7.00 1.7 1.75 35.00
No.6 + 1512 EjFfll 55AHT 15.120 0.4 0.40 6.05 0.4 0.40 6.05 1.7 1.70 25.70
No.6 +  15.12 Fififll 55&IRL 0.4 0.4 2.2
No.6 + 19.12 EFfll 55AHT 4.000 0.4 0.40 1.60 0.4 0.40 1.60 2.2 2.20 8.80
No.6 +  19.12 Fififll 55&IRL 0.4 0.4 2.4
No.7 0.880 0.4 0.40 0.35 0.4 0.40 0.35 2.4 2.40 2.11
No.8 20.000 0.5 0.45 9.00 0.5 0.45 9.00 3.7 3.05 61.00
No.9 20.000 0.5 0.50 10.00 0.5 0.50 10.00 3.7 3.70 74.00
No.9 +  14.40 Fifefl |Hkisss 14.400 0.5 0.50 7.20 0.5 0.50 7.20 3.7 3.70 53.28
No.9  +  14.40 Fifefl |Hkisss 3.1 3.1 3.2
No.9 +  16.50 Lifefl |45kisss 2.100 3.1 3.10 6.51 3.1 3.10 6.51 3.2 3.20 6.72
No.9 +  16.50 Fifefll |Hkisss 1.9 1.9 2.9
No.9 +  19.00 Fifefl |Hkisss 2.500 1.9 1.90 4.75 1.9 1.90 4.75 2.9 2.90 7.25
No.9 +  19.00 Fifefl |Hkisss 0.5 0.5 3.7
No.10 1.000 0.5 0.50 0.50 0.5 0.50 0.50 3.7 3.70 3.70
No.10 + 1.00 _E3fefa 1.000 0.5 0.50 0.50 0.5 0.50 0.50 3.7 3.70 3.70
No.10 + 1.00 Tl 2.9
No.10 + 3.50 it 2.500 2.9 2.90 7.25
No.10 + 3.50 T 2.3
No.10 +  10.10 6.600 2.3 2.30 15.18
m2 m2 m3
[exsis 110.100 53.46 53.46 303.69
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g 100 300 | 550 | 150 | 520 | 550
2.0m=H=2.5m
kB 0 300 | 450 | 150 | 520 | 550
B 100 300 | 550 | 150 | 470 | 500
H<2.0m
3.3 0 300 | 450 | 150 | 470 | 500
4 R 7 hEs -V | o= | HfL A
A= 2 % 35cm 331.13 m2
18N-8-40
Hikzr s Y — b t=10cm 166. 94%0. 10 = 16. 69 16. 69 m3
BLAM A RC-40 139. 08 m3
Kifg=a 7 U —hk
(HEarpy) 18N-8-40 107. 799%0. 51/10 = 5. 498 5. 50 m3
Kifg=a 7 ) —k
(HEariL) 18N-8-40 107. 082%0. 31/10 = 3.320 3.32 m3
ka7 ) — A=300mm
(HEarpy) 18N-8-40 109. 099%1. 31/10 = 14. 292 14. 29 m3
ka7 ) — A=300mm
(HEariL) 18N-8-40 107. 082%1. 09/10 = 11. 67 11. 67 m3
fHeE ¢ 40  L=500mm 2.0 miZ 1R TR i
Y — TR [ SEKRT 4 — 640 216.18+2.0 = 108 108 i
A 650 VU$50 L=100mm 2.0 miZ L& FTR%E
Y — TR | SEKT 4 F— 50 216.18+2.0 = 108 108 i
fii e H 107. 799-9. 0-1=1 14 iy SFHISL=L. 53m
o2 Fy s 745 | FjEiET ey 7 (1. 53*0. 45+0. 45%0. 225/2+ (0. 30+0. 15) %0. 55/2) *11 = 9. 49
107. 0829, 0-1=11{& 7 SEHSL=1. 53m
Vit VA=A (1. 53%0. 35+0. 35%0. 175/2+(0. 30+0. 15)*0. 45/2) *11 = 7.34
110. 10+9. 0-1=11f& Fr SEHW=4. 23m
JEiE= 7 ) — b 4. 23%0. 15%11 = 6.98
Fi 23.8 23.8 m2




7Ry s HERE(ER)

A
A= ==iicy: i ER &7 Av o $35cm | ‘/%;LU — K K Bz 7 U=t EIARERC-40
R a7 U—=HrMarsU—=+ A=300mm
. (Eavk
- - . . - _ (Earvd
BT | ®IFH| BRSL | FRFH| @E | t=100mm |[(EarHY)|[(E3EL) 4) B550 L) d=550mm|d=500mm
B=450
m m m m m m m2 m2 m m m m m3 m3

No.0+4.13
IP.1
IP.2
No.1
IP.3
No.2
IP.4
No.3
No.4
IP.5 1.259 1.408
No.5 13.667 | 13.682 1.286 1.273 1.438 1.423 19.469 13.682 13.682 8.160
No.6 20.000 | 20.000 1.326 1.306 1.482 1.460 29.200 20.000 20.000 12.237
No.6+14.815 14.815 1.356 1.341 1.516 1.499 22.208 14.815 14.815 9.308
(55&HRI)
No.6+19.415 1.365 1.526
No.7 20.000 0.585 1.366 1.366 1.5627 1.527 0.893 0.585 0.585 0.374
No.8 20.000 | 20.000 1.406 1.386 1.572 1.550 31.000 20.000 20.000 12.987
No.9 20.000 | 20.000 1.446 1.426 1.617 1.595 31.900 20.000 20.000 13.362
No0.9+14.100( 13.900 [ 14.100 1.474 1.460 1.648 1.633 23.025 14.100 14.100 9.645
(1B7KkH#E35)
No0.9+19.3 2.500 1.485 1.660
No.10+3.2 2.500 3.900 1.492 1.489 1.668 1.664 6.490 3.900 3.900 2.721

Hi 112.567 | 107.082 164.185 0.000 0.000 107.082 0.000 107.082 0.000 68.794




7Ry 7 HEREER)

—

AR HppRE | ER E7 v o #35cm :\/%717)— R R Bz 7=t EAHARC-40

g avsy—rarsu—t A=300mm
- (Tar7i
& | =®STFH| BRSL | fETH | EE t=100mm |(Eav&Y)|[(EI3>»7%HL) f%:y% d=550mm|d=500mm
))B=550 |
m m m m m m m2 m2 m m m m3 m3

No.0+4.13
IP.1
IP.2
No.1
IP.3
No.1+19.85
(15&RI)
N0.2+2.65
IP.4
No.3
No.4
IP.5 1.259 1.408
No.5 13.667| 13.649|  1.286| 1.273|  1.438) 1423 19.423|  19.423 12.849 13.649 8.14
No.6 20| 20.000|  1.326| 1.306|  1.482|  1460| 29.200]  29.200 20.000 20.000 12.237
No.7 20{ 20.000{  1.366| 1.346|  1.527|  1.505| 30.100|  30.100 20.000 20.000 12.612
No.8 20| 20.000  1.406| 1.386| 1572|  1550| 31.000|  31.000 19.500 20.000 12.987
No.8+19.65 20| 19.650|  1.445| 1426  1.616|  1.594| 31.322|  31.322 19.650 19.650 13.128
(75ART)
No.9+1.8 20 1.450 1.621
N0.9+16.2 13.9| 14.400|  1478| 1.464|  1.652| 1637 23573| 23573 14.400 14.400 9.877
(57K 135)
N0.9+19.3 2.6 1.485 1.660
No.10+0.7 25| 1400  1.487| 1486 1.662|  1.661|  2.325 2.325 1.400 1.400 1.309

it 132.667| 109.099 166.943|  166.943|  107.799 109.099 0  70.29
[z 25t —1 —| —| — | —| —| 331128 166.943]  107.799]  107.082]  109.099 0| 139.084




NO
Rz 7 Y— b LA
@Er=r 2 )= 1 bY)

Xigaroy—+

18N-8-40 B
50
Ejl:l v 47 ($E35cm)
EAa o y—+Fk
10. 0mX4
4 M B oKX & B R B K| BT fii &
ay s Y—k 18N-8-40 (0. 350+0. 100) *0. 225%1,/2*10.00 = 0.51|  0.51 m3

[ 2 A 0. 225%10. 0 = 2.25 2.25 m2 e

=




NO

Kgar 7V — L BT EE
(EEAzar 7= 0L)

=h:
=

i

Rima>roy)—+F
18N-8-40 35

“
s

\IE 0 v o (#E350m)

>
10. 0m24 ¥
Z # £ -V | RN B G| HfT [
ar s y—h 18N-8-40 0. 350%0. 175%1/2*10.00 = 0.31  0.31 m3
IR 0.175%10.0 = .75 1.75 m2 A




NO

EPo 7 U — b A=300mm  HrEGIE

(A= > 7 U — k& Y B=550)

/ FARE RC-40

n 455/

B
w

300
=

18N-8-40 750 100
10m4 »
4 g1 % Bt oKX & B R o & OHEAfT i =z
B= 0.75 L= 10. 00
FEREfa RC-40,t=10cm 0. 75%10. 00 = 7.50 7.50 m2
B= 0.10 H= 0.30 L= 10. 00
a7 Y—h 18N-8-40 0. 10*0. 30%10. 00 = 0. 30
Hi= 0.15 H2= 0.30 B= 0.45 L= 10.00
(0. 15+0. 30) /2%0. 45%10. 00 = 1.01
B 1.31 1.31 m3
R (0. 30+0. 15)10. 00+0.10%0.30+ (0.15+0.30) /2*0.45 - 463 4.63 n2 A
B= 0.75 L= 10. 00
TR IE 0. 75%10. 00 = 7.50 7.50 m2




NO

HEga 7 U — b A=300mm BN R
(HA T2 ) — k72 LB=450)
< 100 EARE RC-40

Qo) —+ /1004501

18N-8-40

150

650
10m4 »
4 g1 % Bt oKX & B R o & OHEAfT i =z
B= 0.65 L=  10.00
Fr e RC-40,t=10cm 0. 65%10. 00 = 6. 50 6. 50 n2
B= 0.10 H= 0.30 L=  10.00
ay 7 )—k 18N-8-40 0. 10%0. 30%10. 00 = 0. 30
Hi= 0.15 Hz= 0.30 B= 0.35 L= 10.00
(0. 15+0. 30) /2%0. 35%10. 00 = 0.79
#t 1.09 1.09 m3
[ 78 (0. 30+0. 15)*10. 00+0.10*0.30+ (0.15+0.30) /2*0.35 = 4.61 4.61 m2 figinn
B= 0.65 L=  10.00
FmHEE 0. 65%10. 00 = 6. 50 6. 50 n2




/ANEIET O g S S
R No. 9+14. 10 | No. 9+16. 20 | N 21;1”43 00 1 No. ggg_?‘ 901 No. 10+0. 70 | No. 10+3. 20 2 EAAT ==
15
Loy 18N-8-40 0. 46 0.51 0. 46 0. 52 0. 52 0. 46 2.93 m3
] A LR 3.61 4.01 3.62 4.01 4. 00 3. 65 22.90 m2
0. 28 0.31 0. 28 0.31 0. 30 0. 28 1.76 m2




NO
ABET LA

i

=
=]

No. 9+14. 10

No. 9+14.1

AS
- S —
-
r~
=
(=3
<
et (ap)
EHaAVI)—F
18N-8-40
174y
Z M his G-V RN o & OHEAfT {7
av7U—h o ck=18N/mn’” (0. 724+0.930) /2%1.474%0. 30 = 0.37
(1. 030+0.920) /2x0.30%0. 30 = 0. 09
7 0.46 0.46 m3
[ P A A (0. 724+0.930) /2%1.474%2 = 2.44
(1. 030+0.920) /2%0.30%2 = 0. 59
(0.30+1.648) *0.30 = 0. 58
7 = 3.61 3.61 m2
B= 0.92 L= 0. 30
LR 0. 92%0. 30 = 0.28 0.28 m2




NO

ApIET A
No. 9+16. 20
No. 9+16. 20
\
\
| AS
E’\ | I
= ‘ 3 -
Sf 7 o
/. <
—\‘\ 1 \,/ -
- ‘ — —= N 8
~7— ‘L//—*‘ =

BHaro)—+

18N-8-40
174y
4 g1 M his G-V RN o & OHEAfT i =
=7 ) — b 18N-8-40 (0.840+1.031) /2%1.478%0. 30 = 0.41
(1. 131+1.020) /2%0.30%0. 30 = 0.10
7 0.51 0.51 m3
[ R A MRS (0.840+1.031) /2%1.478%2 = 2.77
(1. 131+1.020) /2%0.30%2 = 0. 65
(0.30+1.653) *0. 30 = 0. 59
7 = 4.01 4.01 m2
B= 1.02 L= 0. 30
FEIRFEIE 1. 02%0. 30 = 0.31 0.31 m2




NO

/AOIET HAT A
No. 9+19. 00/ j#
No. 9+19. 0 (&%)
|
|
724
AS
Lo
()
=
S
[
(9
|
1028 |
EHaLo)—+h —
18N-8-40
174y
Z M his G-V RN o & OHEAfT {7
=7 ) — b 18N-8-40 (0. 724+0.928) /2%1.485%0. 30 = 0.37
(1. 028+0.920) /2%0.30%0. 30 = 0. 09
7 0.46 0.46 m3
[ P A A (0. 724+0.928) /2%1.485%2 = 2.45
(1. 028+0.920) /2%0.30%2 = 0. 58
(0.30+1.660) *0. 30 = 0. 59
7 = 3. 62 3. 62 m2
B= 0.92 L= 0. 30
FEIEEIE 0. 92%0. 30 = 0.28 0.28 m2




NO

/AHOIET

E
=

i

A7 EE

No. 9+19. 0045 5

No. 9+19. 0 (B =)

7
J

Jg
e

|HayV—hk

18N-8-40
174y
4 g1 M his G-V RN o & OHEAfT i =
W= U — 18N-8-40 (0.840+1.030) /2%1.485%0. 30 = 0. 42
(1.130+1.020) /2%0.30%0. 30 = 0.10
7 0.52 0.52 m3
[ P A A (0.840+1.030) /2%1.485%2 = 2.78
(1. 113+1.020) /2%0.30%2 = 0. 64
(0.30+1.660) *0. 30 = 0. 59
7 = 4.01 4.01 m2
B= 1.02 L= 0. 30
FEIRFEIE 1. 02%0. 30 = 0.31 0.31 m2




NO

AOikT HAT A
No. 10+0. 70
No. 10+0. 70
\
\
840
AS
| & = !
T~ Y s
100/ [/ =
e 7;)/
———1 /=8
} 1012
1124
| WmEFiaLH Y — k
18N-8-40
174y
Z M his G-V RN o & OHEAfT {7
W= U — 18N-8-40 (0.840+1.024) /2%1.487%0. 30 = 0. 42
(1. 124+1.012) /2%0.30%0. 30 = 0.10
7 0.52 0.52 m3
[ R A MRS (0. 840+1.024) /2%1.487%2 = 2.77
(1. 124+1.012) /2%0.30%2 = 0. 64
(0.30+1.663) *0.30 = 0. 59
7 = 4. 00 4. 00 m2
B= 1.01 L= 0. 30
FEIEEIE 1. 01%0. 30 = 0.30 0.30 m2




NO

AOlET )
No. 10+3. 20
No. 10+3. 20
724
AS
T =
~ _
<\
g \\:\.é\ —
= 2/\100
o SN —
3 (- =
/ 921
1030
EHFaA Ly —k
18N-8-40
174y
Z M his G-V RN o & OHEAfT {7
=7 ) — b 18N-8-40 (0. 724+0.930) /2%1.492%0. 30 0.37
(1. 030+0.921) /2%0.30%0. 30 0. 09
7 0.46 0.46 m3
[ P A L33} (0. 724+0.930) /2%1.492%2 2.47
(1.030+0.921) /2:0.30%2 0. 59
(0.30+1.668) *0. 30 0. 59
7 3.65 3.65 m2
B= 0.92 L= 0. 30
FEIRFEIE 0. 92%0. 30 0.28 0.28 m2




A O S
EA 5% | 65 | 75 i HAZ (T

A5 18N-8-40 1. 40 0.31 2.24 3.95 m3
ar7 J—Fh

[ 2 A A 10. 74 L71 | 11.74 24. 19 m2
FEHEEIE 2.28 2.43 4.71 m2
ESoY)) m3
EiE=> 27 U—Fh 0. 26 0.26 m3
AR At=15cm 1.72 1.72 m2




NO

B850 x HB50 (BE5%)

SEaHT 5 o7 B B
A | oY~k

" B850 x H850 (BEER)

(EIcitt) 43
J

A N EhEe
- =4.Om
.1 EEIVHU—b
BEp v N
ENXGEENER \_EBBE  t=5em
200
§ s }
Ny 3
YRS ¥
425
Z M his G-V RN o & OHEAfT fidi
a7 U—k 18N-8-40 (0. 73+0. 94) /251, 66%0. 30%2 = 0. 83
(A HiesE) (0. 20+0. 43) /2%0. 45%4. 00 = 0.57
7 1.40 1.40 m3
[ 2 A JHE T (0. 73+0. 94) /2%1. 66%4 = 5. 54
1. 86%0. 30%2 = 1.12
(T ) A HEEE) (0. 45+0. 50) *4. 00+ (0. 20+0. 43) /2%0. 45%2 = 4.08
7 10.74,  10.74 m2
JEIRFEIE 0. 94%0. 30%2+0. 43%4. 0 = 2.28 2.28 m2
Kk Y — k 0. 43%0. 15%4. 00 = 0.26 0. 26 n3
LR t=15cm 0. 43%4. 00 = 1.72 1.72 m2




NO
6E BT YA s
IEmE A-AlTmE

VP ¢ 150 (BEER%) _

\ =

\\ A ‘

'\\ 500 BHavoU—F
\\ ‘ 18N-8-40
|

\\ VP ¢ 150 (BE %)
Z M his G-V RN o & OHEAfT fii &
=7 ) — b 18N-8-40 (0. 84+0. 93) /250, 74%0. 50-1/4%0. 15 ~ 2% 7t %0. 93 = 0.31 0.31 m3
[ 2 A JHE T 0. 83%0. 50-1/4%0. 15 2% = 0. 40
(0. 84+0. 93) /2%0. 74%2 = 1.31
7 1.71 1.71 m2




NO

=h:
=

15EWHT B B
IEEX A-ApTE X
“a "B | A |
_ 2150 _
300 1550 300 BEHDUSY— b
) -7 18N-8-40

B1150 x H850 (BRE%) — ‘

B-BIf & X]

“\._B1150 x H850 (FXE%)
400
A3
X M his G-V RN B & | HfL {7

W= U —k 18N-8-40 (0. 84+1. 13) /2%2. 35%0. 30%2 = 1.39
0. 40%0. 95%1. 55+ (0. 84+0. 86) /2%0. 2%1. 55 = 0.85

7 2.24 2.24 m3
[ R A A (0. 84+1. 13) /2%2. 35%4-{0. 40%0. 952+ (0. 84+0. 86) /2+0. 20%2) } = 8.16
2. 63%2. 15-1. 34%1. 55 = 3.58

7 11.74)  11.74 m2

B= .13 L= 2.15
L IE 1. 13%2. 15 = 2.43 2.43 m2




W Al B A (1/2)
4 X A qH Ak O®E R b= A VA I E

L E 2. 30%2. 30 5. 29 5.29| m2

LR t=15cm 2. 1%2. 1 4.41 4.41] m2

BlLarvrz)—h 18N-8-25 2. 30%2. 30%0. 05 0.26 0.26] m3

e B 2. 30%4%0. 05 0. 46 0.46] m2

#=E L 0.26 0.26] m3

oL 7 ) — b 21N-12-25 2. 10%2. 10%0. 30 1.32 JEHR
2. 10%2. 10%1. 65— (1. 50%1. 50%1. 65+0. 301. 00*0. 80) 3.32 fHIEE
(2. 1042. 10-1. 00%1. 30) *0. 30 0.93 TR

NFIER: 1. 50%8+ (1. 65-0. 15%2) *#4- (1. 00+1. 00+0. 80) 14. 60

(0. 15%0. 15/2) *¥14. 60 0.16 NUF
&t 5.74 5.74| m3

e iz 2. 10%4%2. 25-1. 10%1. 00 17.80 {REE S
(1. 50-0. 15%2) * (1. 65-0. 15%2) *4-1. 00%0. 80 5. 68 EE P
(1.50-0. 15%2) " 2- (1.00-0.15) "2 0.72 K

NFIER: 1. 50%8+ (1. 65-0. 15%2) *#4- (1. 00+1. 00+0. 80) 14. 60

(0. 15%1. 414) *14. 60 3.10 NUF
(1. 3042+1. 00) *0. 30 1.08 ST
1. 10%0. 30%2 0. 66 {BEDH 015
&t 29.03| 29.03| m2

= i 5.74 5.74| m3




W Al B A (2/2)
4 Fr X A qH Ak O®E R b= A VA I E

B 775 D16 W A AE B A5 B & D 0.170] t

D13 [ 0.385| t
SRS T 2. 1%2. 45%4 20.58| 20.58| #im2
FERET 1. 5%1. 5%1. 65 3.71 3.71| ZEm3
FTAE B s fiii 2. 1%0. 3%2+1, 5%0. 3%2 2.16 2.16] m2

HHE
TV—F & T-14 1.0| %A 111. 4k
ey
HHRE B=300 6.0 A




UK AT B R (1/2)
£ W eyl WSRO AN R | BN EE
JET R 5. 40%2. 70 14.58  14.58| m2
BlLarzy—k 18N-8-25 5. 40%2. 70%0. 05 0.73 0.73] m3
T L (5. 40+2. 70) *2%0. 05 0.81 0.81] m2
#E L 0.73 0.73|  m3
FLRE A t=15cm 5. 40%2. 70 14.58  14.58| m2
iy 7 ) —k 2IN-12-25 5. 20%2. 50%0. 40 5. 20 R
2. 50%0. 40%1. 40%2 2.80 e
((2.50-0. 4) *0. 40+ (7 *0.2°2)) *1. 40%2 2.70 b R
k& — (0. 45%4. 80%0. 15+ (0. 20%2+0. 40%2) *0. 45%1. 40) -1.08
&t 9.62 9.62| m3
e {71 (2. 50+5. 20) *2%0. 40+ (4. 80+0. 45) *2%0. 15 7.74 JEIR
(0. 40+2. 50+0. 20) %231 . 40%2 17. 36 e
(0. 40+0. 825%2+0. 40% 7 *0. 5) *1. 44 15. 00 T RABE
&t 40.09]  40.09] m2
#=E fgNin) 9.62 9.62| m3
B 5 D13 e AKAE B B4 D 0.674] t
Y 300 10| 1@




KB = (2/2)

N eyl WSRO AN R | BN EE
[{HEZYANIR siE A L1000 X B1800 2| | 450ke/H
L D13 18+6+30+12 = 66 66| K

0. 44%*0. 995%66 = 29 29| kg




CREREAE IR TR

b Xl o & HAAT -
AEEELD L As t=4cm 600.0| m2
K As t=4cm 600. 0 m2
AR RM-30 t=10cm 600.0[ m2




FLECR= e

2 X Bl

TR

e

B
=




IRER LR

4 Fr X5l o & BANT it

KA+ 5 #E 20.0f 4§
KA+ 9 FE - W= 80.0 4§
B kLl 1m3 X 4f& T 4.0 m3
SR L 1m3 X 414 fr 4.0  m3
fiEIHEAK L HEk AR 7 ¢ 100 1.oo| X
FIFEHY - EIH 6.0X103.0=618. 0 618.0| m2
AR — R EE - R 7.6%103. 0=782. 8 782.8|  m2
R A R B bR

i L=4.0m 100/0. 333=300 300.0| #




PRI T &

% R X Al H = HAfr i
150
. 3000 N
(3.0x0.5-2.7x0.1) x6.0=7.38
a7V — PRV EL 7.40] m3




T Bl KA E T
Tuyv 7 o AKE
X Ca

LIRS Xis

e

FKE

e e

AR BEE + B
i i+ /) 30Mpa

FhHkE L
IEE (A2 A7)
t=8mm (N REFEES Tp)
RY~-—ERA hELF L

JEERR A B IE

RARY~<-t A b
%




A BRI (IREE +ES )

VIR B AR R

H

A

B (m)

FHK B

i (m)

THg it (m)

A (m2)

i (m)

FEE (m)

i A (m2)

i (m)

Pt (m)

A (m2)

i

NO. 19+28. 490

NO. 19+29. 550

NO. 19+32. 720

NO. 19+32. 870

NO. 19+33. 890

o>




A Frc RmEEET [EET A =27 (f)

VIR B AR R

H

A

B (m)

FKiE (42)

i (m)

THg it (m)

i (m2)

i (m)

FEE (m)

[ 5 (m2)

i (m)

Pt (m)

i (m2)

fii =

NO. 19+28. 490

NO. 19+29. 550

i &Y FH

NO. 19+32. 720

i &Y FH

NO. 19+32. 870

NO. 19+33. 890

o>




4 B REEETL MEET A =27 ()

VIR B AR R

H

A

B (m)

FKE CF)

i (m)

THg it (m)

A (m2)

i (m)

FEE (m)

i A (m2)

i (m)

Pt (m)

A (m2)

fii =

NO. 19+28. 490

NO. 19+29. 550

i &Y FH

NO. 19+32. 720

i &Y FH

NO. 19+32. 870

NO. 19+33. 890

o>




T AR R

& B ERAEEE RU~v—k Ak

FHK B

R B (m) MRS (m2) | PR m2) | K B (m3) WA (n2) | THITETRL n2) | K S (m3) Wrd RS m2) | PR m2) | R RS (m3)

NO. 19+28. 490 — — —

NO. 19+29. 550

NO. 19+32. 720

NO. 19+32. 870

NO. 19+33. 890

o>
Wi




gl B K EEAE T
Tay s AKKETH
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